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Kidushin, which — PRATIP INT KD AR N2 7IN02Y PIOR PR PRITOP
cannot result in marriage; Rovo ruled, they are not Kidushin

OVERVIEW

The X132 records a dispute between &2 ™R regarding a person who was w7pn one
of two sisters, but was not explicit, which of the two sisters he was wpn.
According to X217 neither sister is nWTPn, since he cannot marry either sister, for
perhaps he was w7pn the other sister (but »™aX maintains they both are nmwmpn
poon). The X na refers to this case as nX*2% PMoOn PRY PP, There is a dispute
between *"w1 and MooIN as to the meaning of IR°2% PO PRY PLITP.

= INYAD 129N 199937 NHYI) 229N57 1OYVNPA YD
"w4 explained that it is written 7752y, meaning that we require a 1°17°p, which
is fit for 7N°2; however this PYITP is IX*2% P1OR PX.

mooIn asks:
= PYITP 1N Y091 NNAY PINT DIIN 3PIND 2290 XNT NYP)

And there is a difficulty with >"wno, for 8% %217 are not fit for x°2 and

nevertheless P@75P are o910 by X% *2»n. Therefore Ax°2% PMon PR PP (which are
not a valid 217°p), cannot mean that it need be X°2% 1X.

mooin offers his interpretation of X*2% 1701 PRY PYTR:
= PYITIP 2T DY NN DINY 912195 NNAY 1PN0M PRY PYITIH WD AN 195

Therefore it seems to N0 to explain 7R"2% 97ER PRY PPRI7°P to mean that

the prohibition for 718°2 stems from the PRN7P -
- DA 1R HNN 93 NIPN PYITPA ONPRY DHDI MNN SHYN NNR WHPT NI 139

And that is in a case where he was w7p» one of two sisters without specifying
which of the two he is w71, where before the 1°2175p took place each one of the

o372,

2 The 109 (in X,7 (X¥N) 0127) reads; "M A2V WK WX 1> °3 (if a man takes a wife and lives with her). We derive
Ao W 7p from P> °> and the A0 concludes n9¥2), indicating that only a w17 that results in 75y is a valid
W7, however a X2 11021 X9w Pen7p (like our case) is not a valid Pw7p.

3 Many of the illicit relationships are capital crimes (punishable either by 7"*2 nn or n13). There is no PO PYITP
in these cases. However there are illicit relationships, which only carry an X% M0o°R (no capital punishment), for
instance a 77157 AwI73. In that case if he was wTpn her she is nwTpPn (and requires a v3), even though it is a 1Xw PP
%27 Pon (for he s still prohibited from living with her [even though 1"w17°p *09n]).
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two sisters, was permitted to him individually-
- 1INV YIDNI PYITIPN 15 5Y WA
And now through this Pw17%p (where he was w7pn one unspecified sister), they

are both prohibited to him. That is why this is considered 7x*2% 17011 XoW PLITP -
= PPN M DY NNA XY ANAN DN PIND 2390 DAN

However by 1m8% 211 the prohibition for 118°2 to this woman does not stem

from the 27Ip -
$PUYTPN NN D NP2 1IDN) 129 B NPNI Y9NY

Since even before the 117 these X% 2171 were forbidden to him just as they

are forbidden to him after the °@175p. The 1u1p had no effect on the Mok, They are not
considered 7827 17011 XoW P17R, and therefore 372 1ooN PUITPR,

SUMMARY
X027 PMon PRY PUITR according to "wN means that the marriage cannot be
consummated; according to M»d0IN it means the W17°p created the X2 MOX.

THINKING IT OVER
1. Is there any practical difference between *"w15 and mdoIn?

2. The rule is that there is no mp» for a 375 who is P2 a w3, unless he was
w7Pn her first.* Therefore it should also be considered 7X°2% 1M0n1 K9W 7W1T°p, since
the W TP cause the mpn, and subsequently, 1w17p should not be 0910?°

4 See x,nv P,
3 See TN wIon XX # 151.
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